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Excel Answer Sheet for Economics 210

Chapter: 9_International_Trade.xls
To Accompany Excel Workbook: 

Refer to the Above Excel Workbook in answering the questions below. For each spreadsheet in the workbook, a spreadsheet title and a brief description of the spreadsheet precede one or more questions based on that spreadsheet. Bold letters indicate the spreadsheet name.

Closed Economy: Short Description of Worksheet. 

1. a.
Explain how the price for this good is established in this economy.


b.
Explain what “Producer Surplus = $1350” means.


c.
Explain what “Consumer Surplus = $2250” means.

Exporting Country: Short Description of Worksheet. 

2. Choose a price above the “No Trade” price. The selected price is _____________.


a.
For the price you choose, fill in the table below.

	
	
	No Trade
	Trade

	Price =
	
	150
	

	Domestic Quantity Demanded =
	30
	

	Domestic Quantity Supplied
	30
	

	Quantity Exported =
	0
	

	Consumer Surplus =
	2250
	

	Producer Surplus =
	1350
	

	Combined Surplus =
	3600
	



b.
In what two ways do sellers gain from being in a free-trade world rather than one with no international trade in this good?


c.
In what two ways to buyers lose from being in a free-trade world rather than on with no international trade in this good? 

WelfareEffects_Exporting: Short Description of Worksheet.

3. 
Choose a price above the “No Trade” price. The selected price is _____________. Write a sentence or two about each of the four labeled areas. 

Importing Country: Short Description of Worksheet. 

4.
Choose a price below the “No Trade” price. The selected price is _____________.


a.
For the price you choose, fill in the table below.

	
	
	No Trade
	Trade

	Price =
	
	150
	

	Domestic Quantity Demanded =
	30
	

	Domestic Quantity Supplied
	30
	

	Quantity Exported =
	0
	

	Consumer Surplus =
	2250
	

	Producer Surplus =
	1350
	

	Combined Surplus =
	3600
	



b.
In what two ways do buyers gain from being in a free-trade world rather than one with no international trade in this good? (Hint: What happens to the price paid? What happens to the quantity consumed?)


c.
In what two ways to sellers lose from being in a free-trade world rather than on with no international trade in this good? (Hint: What happens to the price received? What happens to the quantity produced domestically?)

WelfareEffects_Importing: Short Description of Worksheet. 

5.
Choose a price above the “No Trade” price. The selected price is _____________. Write a sentence or two about each of the four labeled areas. 

Tariff: Short Description of Worksheet. 

6.
Select a positive value for the tariff. That value is _________.


a.
Given the tariff rate that you have chosen, fill in the table below.

	
	
	No Trade
	Trade
	Trade w/tariff

	Price =
	
	150
	75
	

	Quantity demanded =
	30
	45
	

	Domestic Quantity Supplied
	30
	5
	

	Quantity Imported =
	0
	40
	

	Consumer Surplus =
	2250
	5062.5
	

	Producer Surplus =
	1350
	37.5
	

	Tariff Revenue =
	
	
	

	Surpluses + Revenue =
	3600
	5100
	



b.
Experiment a little. Set the tariff at each of the rates that the scroll bar allows. At which rate(s) is tariff revenue maximized? At which rate(s) is tariff revenue zero? Why doesn’t raising the tariff rate reliably increase tariff revenue? 


c.
How does what you found above relate to the Laffer Curve?

Welfare Effects-Tariff: Short Description of Worksheet. 

7.
Select a positive value for the tariff. That value is ________. Given that value, write a sentence or two about each of the seven areas in the graph. 

Quota: Short Description of Worksheet. 

8. Select a quota level below 40. That level is _________. 


a.
For the chosen level, fill in the table below.

	
	
	No Trade
	Trade
	Trade w/quota

	Price =
	
	150
	75
	

	Quantity demanded =
	30
	45
	

	Domestic Quantity Supplied
	30
	5
	

	Quantity Imported =
	0
	40
	

	Consumer Surplus =
	2250
	5062.5
	

	Producer Surplus =
	1350
	37.5
	

	License-holder Surplus =
	
	
	

	Total Surplus =
	3600
	5100
	



b.
Experiment a little. If you were a lobbyist for the holder of a license to import this good, which of the quota levels (0, 5, 10, 15, 20, 25, 30, 35, or 40) would you try to get adopted? Explain.
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How long did it take you to finish this exercise set?

Please rate its difficulty.  Circle one of the numbers on the scale below
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Extremely easy






extremely difficult

Please rate its clarity.  Circle one of the numbers on the scale below
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4

5

Extremely clear






extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content.

